@
&g Real Life Maths Questions

Remember to:

* show the gap from 100 to the
target number on a number line

| can subtract with 3 digit « jump to 100 by taking 1 off the
numbers target number’s hundreds digit

(1) Pim has 672 sweets. He gives Pom 100 of his sweets. How many
sweets does Pim have left?

2) Pom went to the shop with £788. He bought 3 games for £70.
How much money does he have left?

3 Mully took away 90g of wood from the weighing scales. He
started with 332g. What is the weight on the scales?

Pim poured 60ml of water out of his jug. He started with
550ml. How much liquid is in the jug?

What is the difference between 972 and 200?

Set 2




@
Bng Real Life Maths Answers

Remember to:

* show the gap from 100 to the
target number on a number line

| can subtract with 3 digit « jump to 100 by taking 1 off the
numbers target number’s hundreds digit

Pim has 672 sweets. He gives Pom 100 of his sweets. How many
sweets does Pim have left?

Pim has 572 sweets left.

Pom went to the shop with £788. He bought 3 games for £70.
How much money does he have left?

He has £718 left.

Mully took away 90g of wood from the weighing scales. He
started with 332g. What is the weight on the scales?

There is 2429 on the scales.

Pim poured 60ml of water out of his jug. He started with
550ml. How much liquid is in the jug?

There is 490ml in the jug.

What is the difference between 972 and 200?

The difference is 772.
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